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Paper I
gyurent 1

Time Allowed : 60 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

I ¢ A YA U (50) FgES YA foeiel 1A Wosh YAl |1 (2) T ST

wE TR Hie.
1. What is the arithmetic mean of the | 1. 1 d 51 =1 YUlfer He&AT= T WeA
integers from 1 to 51 ? fopat 2
(A) 24 (A) 24
(B) 25 (B) 25
(C) 26 (C) 26
D) 27 D) 27
If 10™ (m is positive integer) divides ST 10™ (m o9 qUlleh IMR) A &I
the product of the integers from 101 @ 151 =1 quiieh H&ATAT OMRRA

101 to 151, then the maximum value

of m is :
(A) 12
(B) 13
© 11
D) 10

Among the three numbers,
X =188181811881, Y = 881181811818
and Z = 811881188118 which
numbers are divisible by 18 ?

(A) X only

(B) Y and Z only
(C) Z only

D) X, Y and Z

™SS 9 Sl W om = Higad Hiet
foma fordl 2

(A) 12

(B) 13

(C) 11

(D) 10

feoear X = 188181811881, Y =
881181811818 9 Z = 811881188118
AT hivea &A1 18 3 7319 9
S ?

(A) X ™
(B) Y 9 Z WK
(C) Z %
D) X, YT Z

[P.T.O.



A person was working to transfer
bricks from a place X to a place Y,
where the distance between X and
Y is 200 meters. At a time the person
was carrying 15 bricks. Starting
from the place X, after travelling 5.5
km while working, how many bricks
were shifted to the place Y by the

person ?
(A) 190
(B) 195
(C) 210
D) 215
There are 64 deer in a forest in the
present year. If x(n) denotes the
number of deer in the forest in

3
year n and that x(n)= Ex(n_ 1) for

n=1,2 3, ... , how many deer are

there in 5th year in the forest ?
(A) 96
(B) 486
(C) 243

D) 339
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Wk el X A1 fohmomamd Y =1 foshrof
ferer amgA Hvarel i G A X S0
Y =1 fowmommeie S 200 HieX STE.
<1 ==Kl WehT dos® 15 ferer aige Ad. o
e X A1 {ShTOTIA MM geerd
Hed ™ 9 5.5 Tohtfl. S1at IR shetel ST

o o

fohet foer diREfge ?

Y @ foehTofi
(A) 190
(B) 195
(C) 210
(D) 215

Tsh! SITATHES =] aoid 64 BRO1 SR

SR x(n) B AT A SATAGTA 2T

geidied gfeorn=t d9war gyifad «

W 5 auididl I ST giom=t
e fedt ?

(A) 96

(B) 486

(C) 243

D) 339




Which of the following conclusion/s
is/are valid based on the statements

given below ?

Statement I : Some tigers are

goats.

Statement II : All political leaders
are intelligent.

Conclusion 1 : Some goats are not

tigers.

Conclusion 2 : Some political
leaders are intelligent.

Code :

(A) 1 only

(B) 2 only

(C) 1 and 2 both
(D) Neither 1 nor 2

Some buses are standing facing the
bus stand. Thane bus was ahead of
Nasik bus, which was ahead of
Jalgaon bus. Amravati bus was
behind Dhule bus, but ahead of
Thane bus. Which is the second last
bus from behind ?

(A) Thane
(B) Jalgaon
(C) Nasik
(D) Amravati

APR - 00124/1—C
Teltel faemm=n SMeR JEteieh! shiof/d
fpd Sfeq emea ?
o I : el oy § dh 3R

faam II : w8 = 99 gigam
STHdId.

res 1 : &R SR 9 AR
ewd 2 @ S TWEE A9 fgHH
AT

&HE :

(A) 1 S

(B) 2 T

(C) 1 smfor 2 =i

(D) 1 smfor 2 Ukt T

R 9 FHYUTAER THR TS hed 32
M. AT oG ATFh = Y& 37
ST TfeR=h 4 Sfeetmial s=A1 e 37Te.
ST 9 43 SH=A1 TR ST W 30

A ¢ AR T AR I el -
IV G ?

(A) 3
(B) Sa3Ta
(C) &R
(D) STHERIT

[P.T.O.



10.

In a code language if JKLM is coded
as OSVX, then how DEFG will be

coded in the same language ?
(A) ILNQ
(B) JLNP
(C) KMOR
(D) IMPR

In a code language if DAC means
635, then what will be the code for
FEG ?

(A) 879
(B) 678
(C) 587
(D) 897
While facing south, Virat walks 15

meters and then turns to his right
and walks 10 meters. From there he
turns to his right and walks 15
meters. Then he turns to his left and
walks 15 meters. Which direction is
he facing now and how much away

from the starting point ?
(A) East, 15 meters

(B) West, 25 meters

(C) North, 15 meters
(D) South, 40 meters

10.
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Teh! Hiehfdeh 9od ST JKLM < &9l
OSVX 3 3R, T &= 9™d DEFG
¥ BT HE WA ?

(A) ILNQ
(B) JLNP
(C) KMOR
(D) IMPR

ThT iehfaer 9Id SR DAC =1 Hehdieh
635 3T B, W FEG =1 Tehdish I
WA ?

(A) 879

(B) 678
(C) 587
(D) 897
Tferiiehe die e fore 15 HieX =rerd

M TR WA= ISa ke g 10
HieX =Terdl. T d1 Istathe aad 15
et FTedl. FaX @ SEiehs Jagd 15 Hiex
rerdl. @ o ¥ die e
ST o5 TSRO fehel STaeR 391
e ?

(A) 98, 15 HiX

(B) 4f¥=H, 25 HiX
(C) W, 15 HIX
(D) e, 40 HieX




Directions :

Question numbers 11 and 12 are based

on the following information :

Following is a table representing foreign

tourists visiting different places in India

in a certain year. (Figures are in lakhs).

Type | American | English| French | Other | Total
Place
Agra 6.5 3.8 3.5 1.2 15.0
Delhi 8.2 8.7 2.7 0.4 20.0
Chennai 3.7 3.3 2.4 0.6 10.0
Udaipur 2.8 1.3 1.5 0.4 6.0
Bangalore 3.0 1.2 1.3 0.5 6.0
Shrinagar 1.0 0.8 1.1 0.1 3.0
11. What is percentage of total number

12.

of tourists visiting Agra ?
(A) 33.33%
(B) 25.00%
(C) 16.67%
(D) 10.00%

Which type of tourists found
maximum at Delhi ?

(A) American
(B) English
(C) French
(D) Other

APR - 00124/I1—C

=T

Y ShHISh 11 37T 12 Eiet urfediaT
MR 2ATEd :

ESLrA 2.8 1.3 1.5 0.4 6.0
AR 3.0 1.2 13 0.5 6.0

iR 1.0 0.8 11 0.1 3.0

AT BUfeeh auid fataer fSehroit et
QUTAT WYQE WareTie Wifedt Uere
AR faeiell 3118 (3Mehs TrETHe
).
T |efeRT | gfewr | ®ww | g | T
foarToT
am 6.5 3.8 35 | 1.2 | 150
faeett 8.2 8.7 27 | 04 | 200
Gt 3.7 3.3 24 | 06 | 100

11.

12.

AT TR N QU THYU AT

grehean fehdl ?
(A) 33.33%
(B) 25.00%
(C) 16.67%
(D) 10.00%

feoeTHED SR YR TaTHT Halid S
eesdrd  ?

(A) SRR
(B) gfierst
(C) %
(D) SX

[P.T.O.



Directions :

Question numbers 13 and 14 are based

on the following information :

Following table gives itemwise
expenditure of construction of house.
Item Expenditure (%)
Labour 25
Cement and Bricks 30

Steel 15
Timber and Glass 20
Miscellaneous 10

13. The information in the above table

14.

is to be represented diagrammatically
using Pie diagram. What will be the
angle of the sector representing item
labour ?

(A) 50°
(B) 30°
(C) 90°
(D) 25°

What is the ratio of expenditure of
the item cement and bricks to the
total expenditure of construction of

house ?

(A) 1:3
B) 1:4
C) 2:5
(D) 3: 10
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g
9 Thflich 13 10T 14 T Yrel Wifgdiat
JMeTRA ATEA ¢
el WUt waneruiten fafaer shemi-
YHTOT STl @ od e,
HeH @ (%)
sty 25
fae snfor faer 30
SIECES 15
TehRg M0 20
S 10

13. =@ wrvitaelta wifedt ades fersmen
(Pie diagram) YBRAIM SRaaF=! 2R,
TSI AT SHeTHIETS! STHUIRAT ajesdTehosial
(Sector) IH Tordt 9= e ?
(A) 50°
(B) 30°
(C) 90°
(D) 25°

14. fg¥e snfor faer o wow@EEST Feien
T S SERHIHIS! Areied Tl
EEel TOR w1 T ?
(A) 1:3
B)1:4
(C) 2:5

(D) 3:10




15.

16.

The following (X, Y) points are
plotted on X-Y plane and the

adjacent points are joined by smooth

curve :
X Y
1 60
2 30
3 20
4 15
5 12

What will be the nature of curve ?
(A) Straight line

(B) Parabola

(C) Hyperbola

(D) Exponential curve

Identify the correct pair from the

following :

(A) Pxl — unit of focus of digital

cameras

(B) HDD — unit of high definition

of digital screens
©)
(D)

Kbps — unit of data transfer rate

Ghz — unit of memory storage

on digital devices

15.

16.

APR - 00124/1—C
@ (X, Y) &g X-Y yaemer @rmed 9
HeTd fog e (smooth) TR Siree ¢

X Y
1 60
2 30
3 20
4 15
5 12

I TR &Y DI A ?

(A) W3 o

(B) &= (Parabola)

(C) 3 (Hyperbola)

(D) =Mt % (Exponential curve)
WeATeTish! IO SISt 9ra 3T ?

(A) Pxl - fefSed S I=N ®ihd AN
Teheh

(B) HDD - fefSea uemn=ar =9

wsede  (SfRRH) TEe

(C) Kbps — fag1 (Z21) TR o=
THF

(D) Ghz — fefSea Iyommeiar Tat

HIGHUhIe Tehdh

[P.T.O.



17.

18.

>

When you access a site with ‘https
instead of ‘http’ in the address bar,
it primarily means :

(A) You are accessing a speedy

connection

(B) You are accessing a secure

communication

(C) You are accessing a single date

line transfer
(D) You are accessing a smartphone
friendly website

Which of the following shows the

correct chronological order of the

first launch of these internet based

facilities ?

(A) YouTube, Gmail, Instagram,
Wikipedia

(B) Wikipedia, YouTube, Gmail,

Instagram

(C) Gmail, Wikipedia, YouTube,

Instagram

(D) Wikipedia, Gmail, YouTube,

Instagram

17.

18.
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‘http’ Uasl ‘https’ S0 SUSH 38R
SISHARHE STV SedEe Tl Siegl
IRAT deRl R
(A) T oA S Ul (Se) oo

ST

(B) U e A9 Se ATRd STHl

(C) ToeT s&iaur=n Tehg A1l aTaRd 219

(D) WEHFATT 3T JedEe ard

ST

f B o}

geeald Wi fefS

I ol FeueH
& o™ a8 A1 fhsmeaR welierdeht
EAL IR e e | o s e | L
(A) gZgd, SAd, e, fafefufean

[ T oo B O

(B) ™IhUrs

AT, g2gd, A, 3

[ oS o T a3 a3

(C) SiHa, faferfutean, g, SR

(D) faferfufe=n, SfAe, g9, semm™

10
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19. Which of the following has not been | 19, TWIHadd (SWAYAM) SHAHATHHH=AT
appointed as a national coordinator STOTTET TS TETEEE el
for SWAYAM to ensure the quality > Het T
of the course content ? . A

Mgl HAerel ARl ?
(A) Indian Institute of Science .
(IISc) (A) YR T |eom (STIsTET?)
(B) National Institute of Open (B) U Heaa fommetaft feveror ween
Schooling (NIOS) (TASTHSITH )
(C) Indian Institute of Management, (C) WY sHERaE g S
Bangalore (IIMB)
. ( SATHATLHS )
(D) Consortium for Educational .
Communication (CEC) (D) efores e e (TR

20. In the context of ‘Web 2.0’ digital | 20. ‘ae 2.0 fefStea =reed=an dguid UGC
environment what does the I SUSiidel SEEY Weferieh] STl
abbreviation UGC stand for ? (3ust) g sEifad ?

(A) University Grants Commission (A) gt ieq wfem
(B) User Generated Content (B) IR SIS Hee

(C) Unique Graphic Coding (C) Fffeh wfthsh =hifem

(D) Universal Graphic Chip-set (D) Fffeeder Witheh fou-de

21. When were Millennium Development | 21. ¥g& I weursl fawm 3fewe

Goals (MDGs) adopted by the United (MDGs) el Tl ?
Nations ?

(A) 1990
(A) 1990

(B) 1995
(B) 1995
(C) 2000 (€) 2000
D) 2010 (D) 2010

11 [P.T.O.



22.

23.

24.

What is the target year for achieving
the Sustainable Development

Goals ?

(A) 2020
(B) 2025
(C) 2030
(D) 2040

Which of the following is the effect

of photochemical smog ?

(A) Headaches, eyes, nose and

throat irritation
(B) Gastrointestinal disorders
(C) Renal disorders
(D) Bone disorders

What is the term for the process of

inoculating microbes into soil ?
(A) Bioventing

(B) Biostimulation

(C) Bioaugmentation

(D) Biosparaging

APR - 00124/1—-C

22. ¥MYed fawg Sfese ey wivamE

23.

24.

feiftq oo o 2
(A) 2020
(B) 2025
(C) 2030
(D) 2040

WIEHTeTeh! ShIoTdl FehTIRIER e YR
oy R ?

(A) ShgEl, Sles, 7ok, TIH1 AT Sc3oTed

(B) 3 oMo sTdeara faehr

(C) TATe™ foer
(D) B fomhR

AHS geasiare GUI0 w0

ishae A UME 7
(A) Siferer-Tiee

(B) Sifersh-SxisTT

(C) qewsitar sTafdd o

(D) Sifass fereermen o

12
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25. Which component of a solar panel | 25. ﬂ'ﬁ%‘l@ﬂgﬂ Thid STEER TR YT
is responsible for directly generating TRV Bk 9 faeyd yaE Taior sy
electric current when exposed to SEEER T ?
sunlight ? .. )

(A) 3TEE Tdoyd Yaal I+
(A) Inverter )
B) 1¢Tdres 9
(B) Semiconductor material (B)
(C) Reflectors ©
(D) Batteries (D) fosft 5=
26. Environmental Education is not just | 26- TR foNeor ® ekt SO ST S
awareness and knowledge, but it is T Tog, T ey =1 ferhraE
also development of ................ . EIRECEE S
(A) Deeper knowledge (A) FEre M
(B) Theoretic knowledge (B) HaT<rh A
(C) Proper attitude (C) A sAf¥re
(D) Proper concepts (D) & Hhe
27. Indian education system generally | 27. YR 10 SO WHRC: @eia
is divided into following periods : Beemr B S
(A) Vedic period, Buddhist period,
Muslim period, British period, (A) dI<eh ohied, S5 hles, HIRTH <hics,
Post-Independence period ffegT e, TR e

(B) Hindu period, Buddhist period, .
Jain period, Muslim period, (B) %i*m’aﬁ"_g o3, ST Hles, e
British period e, ToIfesT e

(C) Vedic period, Ramayan period, o) AR ; —
Mahabharat period, Jain period, (C) WIS 13, AN 63,
British period FeB, SF FB, 9 F1

(D) Up?nlshadlc .perlo(.i, Puran.as (D) SRR e, TV 1, g T,
period, Buddhist period, Muslim
period, Modern period et hles, (T i

13 [P.T.O.



28.

29.

30.

In correspondence education system

the following things are included :

(A) Only guiding instructions

(B) Only solved answers through

letters

©)

Guiding instructions and solved

answers

(D) Guiding instructions, solved

answers and occasional lectures

The First Open University was
started in 1969 at ................. .

(A) Chicago in America

(B) Milton Kenis in England
(C) Paris in France

(D) Delhi in India

According to Muslim System of
Education, ‘Madarsa’ is supposed to

be the centre of ................ .
(A) Primary Education
(B) Secondary Education
(C) Higher Education

(D) Technical Education

28.

29.

30.

APR - 00124/1—-C

TIaENgR e sgeedd et
M= HHES Bl :

(A) T ANCER ol

(B) wed Arefoed I

(C) HTiESieh a1 T Hisfaerel 3w

(D) HriGRish =1, Hrefaciel W S
YETeR ST

qfged g foamdiar= Tmae 1969 A&

....................

(B) soiende faeed i
(C) wraHa 9RY
(D) YA foeet

qfeem g ggdiqeER ‘wer’ R

14



31.

32.

If taught on memory level of teaching,
the students get tremendous power
for acquisition of .................. .

(©) factual information

(i1) generalized insight

(zi1) problem solving abilities

(A) Only (1)

(B) Only (@)

(C) (@) and (@)

(D) (@) and (i)

The teacher should choose teaching
method considering ................. .

(2) Nature of the learners

(z1) Nature of the objectives to be

realized

(zit) The teacher’s own ability and

proficiency

(A) Only (i)

(B) (i) and (i)

(©) (), (i) and (ii)

(D) Only (i)

31.

32.
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SR STRAEAT ! (memory) e

(i) WEIHR sTagwl
(ii7) T TARORTOT &ree
(A) ®aa (i)

(B) Hax (i)

(C) (@) = (i)

(D) (0) =for (iii)

................... rol‘dl'{l('l 3 ﬁT?{IOhH ST
gt et fes.
() AFTTHAE WEY

(i) e HEAT e ey
(iii) Tereqehren o= e fon g
(A) Ha (i)

(B) @) 3 (i)

(©) @), (i) 3o (i)

(D) ®HIB (i)

15

[P.T.O.



33.

34.

35.

What is the main characteristic of
gifted students ?

(A) They are introvert in nature

(B) They are dependent of their

peers
(C) They are extrovert in nature

(D) They are independent in their

judgement

For adult learners, instruction needs

to focus .coeevenennnnn.. )

(A) equally on the process and the
content to be taught

(B)

less on the process and more on
the content to be taught

(C) more on the process and less on

the content to be taught
(D)

equally on the process and the

product of learning

evaluation gives a

clear idea about understanding of
the student regarding particular

content.

(A) Placement
(B) Formative
(C) Summative

(D) Diagnostic

33.

APR - 00124/1—C
yfaurea faeneata qea aftveg &
I ?

(A) T iaHE WEU™ A

(B) 1 THT=A HRTEATHIER STacied STETd

(C) 1 dfgdE WEI™ A

(D) & = uiamey [ 39

..........

(A) "fsmar snfor frehauaren 9™ AR
@

(B) fsraaR =dl smfor fyremavar=an
SRS ST

(C) gfsder S oo fRrehavamr=an
AWTEER AT

(D) 9fspar Tfor AsggqTaT giuTH
(Product) IeR IR

foeneaten fafsre R SATReT-

TSl T HTT

<.

(A) TIHA=T
(B) 3MTehIeh
(C) HreRTieh
(D) s

16



37.

is the characteristic of

qualitative research.

(A)

Emphasis on numerical data

(B) Focus on statistical analysis

©)

In-depth exploration of meanings

and experiences

(D) Strict adherence to experimental

designs

is a limitation of positivism

in research.

(A)

It ignores the importance of

empirical evidence

(B) It tends to oversimplify complex

social phenomenon

©)

It places too much emphasis on

subjective interpretations

(D) It encourages bias and personal

opinions in research

317.
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T U RN ST

(A) &S Yedel (B2ER) W
(B) H=EWIETE fageioumer @eg

(C) rgfar omfv7 STvaTe wEe wied

(D) 9RIfTeR dgdea SIRESdrd Uach

ke TR

................

ggf HehRIHen {*i?ll‘bl"ll‘ciﬁl '-Ie‘liC\I

(A) U U HehS g al
Eaul

(B) eAfSifeet FHTSTeh Se-Tell S Y

FHUAE] Yl

(C) AfFaamer rdfee oA SR
W IO

(D) TeMEFAME qeTawqon ST Sferish
T A iedeT <0
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39.

40.

................... is referred as “citation” in

academic writing.

A reference to the author’s

personal experiences

(B) A way of giving proper credit

to the original source of

information

(C) A fictional element added to

enhance the narrative

(D) A personal opinion included

without supporting evidence

............... type of research misconduct
involves making up or falsifying
data.

(A) Plagiarism
(B) Fabrication
(C) Misinterpretation
(D) Biased sampling

ICT tool is essential

for creating and managing biblio-

graphies in research papers.
(A) Statistical software
(B) Reference management software

(C) Spreadsheet software

(D) Project management software

39.

40.
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...................

(A) ERIESECEEC o s

(B) Hifedi=A1 ez TdTel 2 l Forfasr
(shfee) <vamn A

(C) YT IREuIEe Seadl T

HIeqeh AR

(D) TR QUi I sheted

’’’’’’’’’’’’’’’’’

HEE] 21 IR 0 fohan EeT 821 TR

HO I 378,

(A) Tifeferer =Ri/arema art

(B) SHE=9m

(C) i Srdfe=d

(D) veat THA oS

SMEEET S e TR hivarEre! S
IR EE2 IR Rl TUDIE G |
AR M-

(A) TifeTeht TIHEAST
(B) Heyl e Higeda
(C) TSI GiRasr

(D) Yehod SHEEATIT GIRE3TT

...................
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Directions :

Answer question Nos. 41 to 45
based on either English passage
or Marathi passage :

It should be remembered that the
Nationalist Movement in India, like
all nationalist movements, was
essentially a bourgeois movement. It
represented the natural historical
stage of development, and to consider
it or to criticize it as a working class
movement is wrong. Gandhi
represented that movement, and the
Indian masses in relation to that
movement to a supreme degree, and
he became the voice of Indian people
to that extent. The main
contribution of Gandhi to India and
the Indian masses has been through
the powerful movements that he
launched through the National
Congress. Through nation-wide
action, he sought to mould the
millions and largely succeeded in
doing so. He changed them from a
demoralized, timid, and hopeless
mass, bullied and crushed by every
dominant interest and incapable of
resistance, to people with self-respect
and self-reliance, resisting tyranny,
and capable of united action and

APR - 00124/1—C

L3 2 AL
U9 hHih 41 9 45 § Ue feeren
TS SaraTeliet Uyl 3w =
o ToRaRiel TSTehRuT HERIe | o8al
ATEl. faveenTeT, IegehivT, U Hosdes
TG TSMIS! IMEATAT SN daedl

Al AIelehe AT AXC T,

qifecd, WEhdl A€l dBds I[Eq
Ufeett. <t fafay wae 2@ wfew,
WehTeh! JTeTSiiel fehell STeqsERl e
S HR[EG 58 T ST Ao
FHOT Wi Heea, fafay afecr
IR, Wifecd TR AUSHIS! ShIo
X, T ede foueh Teehro

el 7 MU HITSeh TSTRRUT T

fehdl TTeaTedl YSATel STeA8] HhIvIAHIe!

A IS YA AT HREAFIGA
gE T oo fag=w e, SATaed

gifefcass aI=zax=] FHearwme AT

FHETEA AAIE SSH  Wlfacaeh a

difeass == wuEiqa sy

FHLOAE] YITel hd AT8d. AU

A e dedil HLOR g
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41.

sacrifice for a larger cause. Gandhi
made people think of political and
economic issues, and every village
and every bazaar hummed with
arguments and debates on the new
ideas and hopes that filled the
people.

In case of very exceptional person,
like Gandhi,

personality becomes especially

the question of

important in order to understand
and appraise him. To us, he
represented the spirit and honour of
India, the yearning of her sorrowing
to be rid of their

innumerable burdens. An insult to

millions

him by the British Government or
others was an insult to India and

her people.

The given passage states that
Mahatma Gandhi largely succeeded

1 .

(A) fighting against the social

discrimination in India

(B) eradicating economic

inequalities in India
©)
(D)

moulding the millions in India

giving political representation

to Indians

41.
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TR AEde FwEHet o8 qers
Y S qEd. QeI W)
TECYI IS HIUR S@El SO

3Med. WHN-E@R Fdd Bd q9ed

o

JHUR  Fh1eTh A HIa|

U TR
TeRTIRTA ShTFa TAR SRt &1 7 TTHR
e, HIY ATEHA 3TN ACHTIRA
YehTRIh G 1 Uesdld ? TeRUre WTSTIH
B <Rl wievrE fowa 7 g ft fourees
oBeles BIUI, ¥ WO Weh Tl iRl
& . AUSIAN Al fepal JAUIS
fiesd ATEl, STHeal TRAm] ==iue oics
IS Hifeced GReRyAT fo=i,  wren
N0 el ATl Tehae IO STHRYT

TRIS! Ao, Ao & WEhdl! ATe Hedaeo

[ feel] 3T TTeehlell sl ded ?

(A) ST I A o oA WeR

Tifetsh TN HodT e

(B) WS o, Wfecd 9 Tehell Hoarret
TFhH TS

(C) A=A SNEAHE vl gt
3N TR TS

(D) UREATF TR
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42. Wife HeMSes, Hiecd URORT A 1
42. What d derstand by th N !
at do you understand by the N
phrase “to be rid of* ? (A) Temer fadsy T T HE
TTeeia S AR foremes e
(A) Released/freed from something SE T T
(B) Tied to something (B) MESTTHAT Thel TedTed] Tgre]
HHAATEA & Ul MlenRY]
(C) Increased something (C) ¥feh HREHMT TIAUTOT = HTeTo]
(D) AR TgdH HHEEET s
(D) Included something ECEL
43. What did Mahatma Gandhi | 43. TSKIA Wil TBASA RO HE
represent ? FIACA T FA 2
(A) Poverty of India (A) HHHAT F
IEE Wl
(B) Working class movement in .
(B) fodielt faameaeii=n wfsfemp @
India
LUl
(C) The natural historical stage of e o . ¢
(C) HrielcTeh Todded] HMHATIH HRlavl
development of India
P (D) WSt Hifsfers & difeen ==l
(D) The spirit and honour of India qrasifeh Yoy
44. The main contribution of Gandhi to | 44. W‘Jﬁ&@ T I HETUR T8lEl
India has been ................. . O] ?
(A) strong arguments (A) TpIRTR
(B) the powerful movements (B) I HURH
(C) vociferous speeches (C) fraaerIfae™ dUEh
(D) intermittent fasts (D) FAE HIeTh
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45.

46.

47.

What, do you think, is the correct
meaning of the term “bourgeois” ?

(A)

Working class with utilitarian
values

(B)

Agrarian class with moral
values

(C) Middle class with conventional,
conservative and materialistic

values

(D) Lower class with no fixed values

Which of the following messages is
less likely to be misunderstood or
misinterpreted due to cultural or
linguistic background of the receivers
of the message :

(A)
(B)
©)
(D)

message full of written words
message full of spoken words
message full of body-gestures
message full of iconic signs

In the context of contemporary
digital paralance what are the
following symbols collectively called
as :

(A) Emoji
(B) Emoticons
(C) Smiley
(D) Stickers

45.

46.

47.
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Td @ ek WSl HIoesias

Teurfardt AredmT U e ™ geod ared

e ?

(A) TRT 9 GEAHT AT A5
ICINIET

(B) Hifgcaadar=l foshmor o a7emer
eI E M EC IR

(C) wrafqs 2@l 7 wigar faures

TeSTCSIIT IO T TSTRTROT HT0]

(D) YT o TGl A ARG
TaT IO

STATTUeh] HIT GhL=AT He Y=

ihReRTh g TRaTel shrevarst an s1fida
THA T eIl YA hUl
Tqd ?

(A) Fquiver o]

[ TG ST |
(B) HqUiadl qiet (I=a1a) Tes STEere
Hew

(C) IR BrerTeTq ool Hrehreiel
RSER

(D) Uiyl sTehyfadr (3TeRia) famgT
T Gedl

qHERCA fefSea urereeRra el
FeETEE SUSTd IR S T
SEIRCK SIS

=) —=( ;) —x
(A) ISt
(B) FHifeshI~=
(C) wEedt
(D) =rwd




48.

49.

50.

In the context of non-verbal
communication identify the incorrect
statement :

(A) Silence 1is a
communication

means of

(B) Non-verbal cues and messages

are easy to control

©)

Non-verbal messages are
culture sensitive and relative

(D) In case of confusion, people
tend to trust non-verbal
communication more than the

verbal
What is Prasar Bharati ?
(A)

It is the national level news
channel under Door Darshan

(B)

It is a news broadcasting
service of All India Radio (AIR)

It is the association of private
broadcasters in India

©)

(D) It is India’s state owned Public

Broadcaster

Which of the following elements is
facilitated much more in a
communicative situation wherein
teacher and students are sitting
together in a circular manner facing
each other ?

(A)

effectiveness of the content of
teaching

(B) teacher’s power to control every

student
©)
(D)

discipline amongst the students

level of interactions between the
students

48.

49.

50.
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1 318 HraeTe Seuia Weiielteht vk

fau™ = 3 ?

(A) O § GO EWEE SR

(B) .37 WAvAda gma omftn W
fasomEE 9N SHaa

(C) T I9IH ¥ HEpdramaey S
&l Hagie 6

(D) Tives fepar fgenm wAfeerda g
T e 4 31eg HaraTeR favemd
SIUAThS lehlal el STHAl

YR AR R TR 2

(A) TEIT= ST AU T Faea
ERElRE

(B) W (TIHISR) T TR

(C) YRATTS TR YHoT Har=t e

(D) VAT SR AIcTeh =i HaiSTiTeh
TR el

Sreg1 farerer anfon fomnell Triese die

& AeBIhd! T el STHTd, ST

G099 JEMHES  WITeierdeht  ShIoTeaT

HEHRTAT HAHH FHOM s fHesd  ?

(A) TereRfaoarea stemEm gyretao

(B) & famneafay v v
ferershi=it  &ream

(C) faeneaiveia fereq

(D) foeneatasia sTaEaREl dde
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ROUGH WORK
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